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Question: I v.:

—

Eg:- The Indian Prime Minister visited X Pakistan.

LR S L e appleaday keeps «...ocviiiiiiinnnnns doctor
away

P AL LRI S0 N I8 Al I BEELABKA IS spalranloe ilir sl Lo island
in the Indian Ocean

Bl Tl o e s SHONIN e e best

: cricketer in the world

TR A o ity undergraduates of EUSL are keen on
B o e sl i English.

& Our Jeaderis ..oosmivima iy kind hearted and ...............o0..
honest man.

[1/2 x 10 = 05 marks]
Question: 1T

Write suitable “Question tags” for the following sentences.

Egi- God speaks in many ways, doesn’t He?

a.

b.

Teaching is a noble profession,

.............................................................................. ?
She speaks in a peculiar way,
.............................................................................. 2
You went to Colombo yesterday,
............................................................................... ?
They aren’t regular to the lectures

1 s A e e o b e ?
The Prime minister will deliver a speech tomorrow
.............................................................................. ?

[1 x 5 =05 marks]

" JUL 2004
Fill in the blanks with suitable articles a, an, or the where@acy If an

article is not needed mark “X". "“’ersrt? st

?
oot



Question: IIT

Complete the following sentences with suitable forms of verbs given in the

brackets.

Eg:- The sun rises (rise) in the East.

a. Bala et ... [be] an undergraduate at the EUSL now.
DS gy vec s satsypde e o [be] on an educational tour to the States
last year.
6. Hemran b copr fehet o [have] a bad dream last night.
d. LalWaYS ociiisnrmmsurmmmmans [eat] fresh vegetables.
& s I [not attend] lectures regularly Jast
year.,
f. Sl Canderls o, o T [engage] in a war for the lagi
twenty years.
g.  The Memorandum of understanding (MOU) ....................
[sign] last year.
h. The final examination ......................... [hold] next year.
1. WIT TN e s svisosimmsesiicns o [not go] to Colombo to visit
his uncle last week.
1 The Bt s b T, [spread] rapidly in the Asian
countries now.
! [1x 10= 10 marks]
Question: TV

Write the correct forms of pronouns to the nouns given in the bractkets.

Eg:- The

a.
b.

teacher presented her [Rani] a story book,

....................... [the children] are in the classroom.

The Chief guest distributed the certificates among
......................... [the winners].

........................ [George Bush] is a famous person in the
United States.

The car knocked .................... [the old man] down while he

was crossing the road.



e The master orders ..........c.ooeeveevn.... [the irpals] to, jl:.llpmg 2004
through the fire. \ & P

f The SARS caused panic among .................. Jopyfall the
people] S Mg pgioe, BT

. A [My friends and I] went on a tour during
the last vacation.

T N0y e SRR ol SO g [Chithra’s] songs are beautiful.

Loy oo o eig e s . [The table] is made of teak.

R R e [Information technology] is vital for the

development of a country.

[1x 10 =10 marks]

Question: V

Select suitable prepositions from the list given below to fill in the blanks.

m,ion, at; - -of,  singce; between,
among, in front of, - from, through.
a. Sri Lanka depends on the aids .............................. the donor
countries.
b. dhepotistiidewremmr.  smrmnes clay.
€ The bulletbassed v mnmmons the skull of the soldier.
g We go-to.church oo Sundays.
e My father has beenin Canada .............coovennin, 2001.
fi The Chief guest distributed the prizes ............covvvvvvviin.) the
winners,
goot Arcyclone hit Batticalog «cvsumsmmrsmorons 1987.
Die. Thereds acinema theatre i iam of the bus stand.
1. The two main political parties are going to sign an agreement
...................... them.
] He isg00d- v wmamsmmsmmrrn i Mathematics.

[1x 10= 10 marks]|



Question; VI

Write a note of request to the Registrar EUSL Jor permission to conduct a
Junction in the Main' Hall,
It should include.
- the time.
- name of the function.
- for whom
- other details

[between 50 — 75 words]
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Fill in the blanks with the su:table woras7 phrases given under the passage.
HOW TO BE A SCIENTIST-

Question: VII

Science is  based upon  observation.  However, [01]
......................... alone is not science. [02] ................ generally state
a problem which then guides [03] .................. in their observations. But
D] it observation people generally are not aware of a
problem. This then raises a question: Which comes [05] .................. , the
observation or the [06] .............cocovven?

Curiosity awakens a need for observation. Observation will usually
raise speelficd07 sl o foteson eens in the mind of a scientist. To satisfy
his curiosity [08] ............ begins to make observations. Then, he
formulates a specific statement that can be [09] .........c.cooovvn. This
statementiis called ‘2 HHQ] ... om0 s s . It is the starting point for an
experiment.

By experimenting, the scientist tries to show or prove that the
hypothesistisadrue o [LL]. e oie votsnemnsons: . He must use good [12]
...................... to create an experiment that fits the problem. The [13]
........................ must produce valid information or data. The data
gathered during the experiment are observations.

Observations can be made [14] ...........ceven.. .. and indirectly. For
indirect  observation, instruments are often used. Some [15]
........................... used by modern scientists are quite simple; others are
e o G R .« <+ s s

To complete his experlment the scientist must state his observations
RRIAE oo form. This means that he has to make [18]
R T . With the results from these he can make more exac!
comparisons or descriptions to prove his hypothesis.

dhe [19) e vis............ of a scientific experiment based on a valid
hypothesis can often lead to a better understanding of the world and the [20]

BARR® # v mn s bn s gk .

results, observation, he, questions, problem,
without, first, instruments, measurements, universe,
complex, experiment, numerical, false, directly,

hypothesis, imagination, tested, them, scientists.



[10 marks]
Question: VIIT : i

Write a job application for the Jollowing advertisement. It shoul include the
covering letter and your bio-data. Full marks will be given to the bio daty
which carries more details.

[15 marks]
e

Wearea .
~ diversified regionally '
active, group of companies '
 operating in various business sectors, W
including the manufacturing and
marketing of industrial, consumer adhesives,
 fashion footwear, clothing and rubber products, ¥
| Our extensive distribution network has made it
possible for us to build a strong customer base for our
products. We are looking for you ! ,,egergetic and
|| selmotivated persons who can fiieet the set targets to
‘Work as Sales. Reﬁrgsentg;ive‘sfia e -

YOU SHOULD BE
Betweert'the ages of 22 - 27 years.
Il:la\“;?yg ﬁ‘ ses at G.C.E. O/L and A/L.

i;.?zegrs e;c;é'rienc_e'in a related sales sector.

500d communication skills in both English & Sinhala,

i """fﬁé“'l.jight candidates will get attractive remuneration and
""" dppottunity for career advancement in a friendly
" -warking environment.

RTIOn S anif

e ) Plleas,e apply with your Bio-Data and the contact
i 1...defails of two non related referees to reach us
e 1 Withib 7 days of this advertisement,

ol 4

s ‘Plgasb mark the post ‘Sales Representative’ on
- - ‘the top left hand comer of the envelope.

The Human Resources Manager
Sinwa Marketing (Pvt) Ltd
15, Siriwardena Road, Dehiwela.
Fax: 726293

‘e-mail: careers@sinwaholdings.com -

ARTHOX HEN

6 ¥’ ndlih il
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Question: IX

Computerized Tomography [C.T.]is a recent development in medical
technology. It is used to improve diagnosis in medical examinations.

What is C.T.? Basically, it is a combination of X-ray and electronic
data processing. It gives doctors a way to study the inside of the human hody
without discomfort to the patient. A C.T. Scanner for the head was first
developed in 1972 by an Englishman, Geoffrey N.Hounsfield. In 1974, an
American, Dr.R.S.Ledley, developed a C.T.Scanner for the whole body.

One great advantage of C.T. is that it permits doctors to see into parts
of the body previously inaccessible. This allows early discovery of such
diseases as cancer. C.T. also can often reduce the need for a patient to spend
a long time in a hospital for diagnostic examinations.

How does a Computerized Tomography Scanner work? Without
entering the body, it explores a patient’s body by making “slices” through
the body. The “slices” measure the density of the body tissues. This
information is sent into the computer. The computer then takes the
information and makes the “slices” into a complete image. The process is
similar to examining the sections of an orange without removing the peel.

The latest models of a C.T. Scanner system work fast. They can finish
a scan in five to ten seconds. The speed also eliminates poor images caused
by movement of muscles, with one exception, the muscles of the heart.

Doctors feel sure that the C.T. Scanner is a great step forward in the
field of diagnostic medicine.

I, Answer YES or NO to the following questions. If your answer is NO,
give the correct answer.

I. Isit true that C.T. helps early discovery of diseases?

...................................................................................

.................................................................................

Z. Is it true that C.T. diagnosis is quite painful?

.................................................................................

..................................................................................



10.

Is it true that the C.T. Scanner was first developed in Germany?

.................................................................................

-----------------------------------------------------------------------------------

..................................................................................

.................................................................................

Is it true that the C.T. Scanner often takes an hour to finish a scan?

---------------------------------------------------------------------------------

----------------------------------------------------------------------------------

Is it true that the C.T. Scanner measures the density of the tissues
of the body?

..................................................................................

----------------------------------------------------------------------------------

Is it true that C.T. requires patients to spend many weeks in the
hospital?

..................................................................................

---------------------------------------------------------------------------------

-----------------------------------------------------------------------------------

----------------------------------------------------------------------------------

----------------------------------------------------------------------------------

..................................................................................

Is it true that doctors believe that C.T. is a step forward in the field

.of surgery?

----------------------------------------------------------------------------------

----------------------------------------------------------------------------------



I Match the words in Column ‘A’ with the equivalent W/(infl.@. in Column

‘B ". . JUL 201
Write the number in ‘the brackets.
Column: A Column: B i =

1. diagnosis a.  information s

2. naccessible b. analysis

3. density o thickness

4. scan d. permit

5, data €. method L 1

6. allow f.  not able to be reached e e

i process g. examine carefully Fisewnis, ]

III. Answer the following questions,

[ Who is Dr.R.S.Ledley and what did he do?

.................................................................................
................................................................................
................................................................................
...................................................................................
.................................................................................

..................................................................................

7. How long does it take to finish a scan of the bod y by using a C.T.
Scanner?

...................................................................................

...............................................................................

[25 marks]
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